Tema:
«B3anmoobpaTHbie 3aga4mn.
VIX cpaBHEHME U




AKmyasau3sauus

Kak onpeaeantb Bpems,
CKOpPOCTb, paccToAHUE?



- Y1obbI HAUTU CKOPOCTH,
HYXHO paccrosHue
noaenuTb Ha Bpems;

- Yrobbr HauTu paccrosHue,
HYXHO CKOPOCTb YMHOXUTb Ha
Bpems.




CTP. 117 YNP 1.
OMPEZE/IN CXEMY K
3AAYE

/laHo: t=3 Y
5=180KM
[lpoexaTthb

ezl elle 12 KM
t-Ha ocCT.

nyTb?




-Kak Mbl cocTaBu/IM B3aMMOOBPATHYIO 3a4au







225:5 =
45KM A
45 * 2 = 90KM

90 : 2 = 45KM/u
225 : 45 = 54




Crp. 118 No 3
TTpoBepum:

380 :4 =95 KM/u
285 : 95 = 3y




- [locTaBbTe B yC/10BUE 3aa4YM
TO, YTO ObIJI0O HEU3BECTHO -
M3BECTHbIM... A Aasblue
nogyMamTe CaMOCTOSITE/IbHO...




Bl14-60MUH 1 MMH-60 ceK

24=.. MUH

60c= .. MMH

65 MMH = ... Y... MUH
70 MUH = ... Y... MUH
90 MMH = ... 4 ... MUH

120MuH, 1muH, 1y
5mMuH, 14y 10MmuH, 1y
30MuUH.



CTtp. 118Ne 6
CpaBHU NPOMEXYTKHU

MNperdpHem:

34 20 MMH < 320 MMH
44 6 MUH < 250 MUH
254 > 1200MHH

404 20MUH < 2450MuUH
15mMuH 10c > 100c
18MuH 45¢ > 150c

38MHH 60c < 2500c
45mMuH 20c < 3200c







